#4 F 1988

o ¥ o
WONDER &% 15014001 1509001 15045001 @ (@ C¢ . Ros & sas0 & & @) (@)
T Syrchronigation with the futare

F{EBRS SWEA %1

=REeX (1E3) =R R IRFT B




ZREM=IAR P RMETEN

FEan iR :

FiEES SWEA REI=H S5 RAZE5S Bl
SEERESE. BIMEANBENESEN.
ZERIB =R ABENEE. B8R, IMNUE

REHI:

@ BARELN RERES

IM B3 IM V5 IM V6 IM 86 IM B7 IM B8

IM 1001 IM 1011 IM 1031 IM 1061 IM 1071
WMEFEME, HMERIENFS IEC60034-30; 2014 Swen
B9 1E3 AR :H:U @ ':EH @: m:
REBRSIVE=HES BN ZNETER EES VS TVIVER
. I A7 45 oo IM 2001 IM 2011 IM 2031 IM 2051 IM 2061 IM 2071
ﬂ”ﬂ*ﬂlﬂ.vﬁtﬁ: §D7J<QIE\ _\.LIE\ E}LIJ-I\ SER
B, faf. RURAS. 8B, ATEE B o0 :m J:F tp EIED :H: ﬂ:
. IZHT,
E?EEE’,:EWEE’$REFH$7}<§‘ rﬁ*”"‘ JJ: m 21304 IM 2111 IM 2131 IM 215 IM 2161 IM 2171
. RERSK. X HHEV. LN, & e J—
B FRSUHAE — RIB AR, :D ol ] ICI5 D:
qu %ﬁﬁ)ﬁz *EE& %mﬁﬁ : H\‘/\MSBO?)I mIAMs\L/J mIAM3\(/)331
SWEA
1P55 B IPELR, F R4, BAEFT, ST TR 80-180 ﬂ Q iP
- BEERE 400V;
- BRESER 50HZ; \Magbjgl \II[\AA ?Y@ ‘WS;
- IBITHEERE: -20°C~40°C; ngg/%
- IB1ITER < 1000m;

- ThE KW RLATF AN Y EES R ;
AkW R LA LB A EES R
ARG 1C411 5% 1C416,

%KT(%ETT@F@?WEE’J&EFH“ET
1) &8

" MRESR, 1EC60034-7 KA TFEN.
2) H*IMV3, IMB6, IMB8 MRE AN HIA.



SWEA ZFI =R RN a7 BN KA KR

IhEEEFEK

(EL) Rt | it
TE R | MR | HERE

IL/In

RuiRE

J(kgm?)

0.75 1 80M1 2855 1.68 80.7 811 794 080 074 062 6.8 33 3.7 66 0.001 11
11 15 80M2 2855 2.40 827 829 805 080 073 0.0 7.5 35 3.8 66 0.001 12
15 2 90S 2900 2.92 842 546 835 088 085 0.79 8.6 2.2 2.9 67 0.002 17
2.2 3 90L 2900 4.15 859 866 851 089 087 081 8.3 2.4 29 67 0.003 19
3 4 100L 2910 5.59 871 873 859 089 087 081 10.0 2.8 3.4 68 0.005 26
4 5.5 112M 2910 7.45 881 884 876 088 086 0.80 9.0 2.3 31 68 0.013 29
55 75 13281 2925 10.0 89.2 897 887 089 086 081 8.6 2.1 33 69 0.024 42
7.5 10 132S2 2925 13.4 90.1 90.6 897 090 0.88 082 9.5 2.4 34 69 0.025 48
11 15 160M1 2950 10.6 912 913 903 083 086 0.80 8.7 2.4 33 70 0.056 97*
15 20 160M2 2950 26.5 919 918 908 089 087 0.82 8.8 2.6 33 70 0.064 107*
185 25 160L 2950 32.5 924 925 916 089 087 0.82 8.9 2.8 3.4 72 0.073 124*
22 30 180M 2955 38.1 927 926 915 0950 088 0.84 9.4 2.6 3.9 72 0.105 145*
075 1.0 80M2 1425 1.80 825 826 800 073 065 0.52 7.3 33 3.5 64 0.005 16
110 15 90S 1440 2.42 841 844 829 078 072 062 7.0 2.2 2.7 64 0.006 17
150 20 90L 1440 321 853 855 838 079 073 0.63 7.5 24 2.7 65 0.007 19
220 3.0 100L1 1445 4.52 86.7 871 861 081 076 0.66 9.0 2.6 2.9 66 0.008 28
3.00 4.0 100L2 1445 6.10 87.7 882 871 081 076 0.66 9.2 2.7 2.9 66 0.009 34
400 55 112M 1450 8.05 886 893 881 081 077 0.67 8.3 2.8 2.8 67 0.018 36
550 7.5 1328 1460 10.9 89.6 89.7 883 081 076 0.66 9.0 2.6 3.0 68 0.037 54
750 10.0 132M 1460 146 90.4 905 893 082 077 0.68 8.9 2.8 3.0 68 0.045 63
11.00 150  160M 1470 20.4 914 915 905 085 081 0.73 8.6 2.6 3.1 68 0.105 100*
15.00 20.0 160L 1470 273 921 922 915 086 082 0.73 9.0 3.0 33 68 0.115 117"
1850 25.0  180M 1475 335 926 927 915 086 082 0.73 9.0 2.5 3.0 73 0.166 152*
22.00 30.0 180L 1475 39.7 93.0 931 917 086 082 0.73 9.2 2.8 3.2 73 0.188 171*
0.75 1 90S 950 1.99 789 788 759 096 0.61 049 4.5 1.6 2.4 52 0.005 16
11 15 90L 950 2.80 81.0 814 794 070 064 0.50 5.0 1.6 2.4 52 0.006 20
15 2 100L 955 3.75 825 823 799 070 064 0.53 6.0 15 2.2 54 0.008 29
2.2 3 112M 960 5.16 843 851 836 073 067 055 9.2 2.2 2.5 54 0.015 31
3 4 1325 970 6.84 856 858 844 074 068 057 6.8 2.0 2.5 56 0.035 47
4 55 132M1 970 8.75 868 869 854 076 070 059 6.8 2.1 2.5 56 0.05 57
55 75 132M2 970 119 88.0 881 868 076 071 0.60 7.2 2.2 2.4 57 0.06 63
7.5 10 160M 975 154 89.1 893 882 079 072 0.60 7.5 2.4 2.4 59 0.13 97~
11 15 160L 975 223 90.3 906 894 079 072 0.60 7.8 29 2.7 59 0.24 117
15 20 180L 980 30.1 912 911 897 079 073 061 8.7 29 33 60 0.35 152*

T BRBNIRAEE,



SWEA %% B3 B35 B5 SMERERTE

B3

IMERERST (mm)

syl wemwRtem |
Y ) = e e 2
6 75

80M2-2 125 625 100 50 19 M6X16 40 155 80 4-010 M20X1.5 165 130 200 0£15 4-012 35 154 157 124 204 215 95 10 295

80M2-4 125 62.5 100 50 19 M6X16 40 6 155 80 4-®10 M20X15 165 130 200 0£1.5 4-®12 35 154 157 124 204 215 95 75 10 330
90S 140 70 100 56 24 M8X20 50 8 200 90 4-010 M25X15 165 130 200 0£1l.5 4-d12 35 180 175 143 233 27 10 87 10 324
90L 140 70 125 56 24 M8X20 50 8 20.0 90 4-010 M25X1.5 165 130 200 0*15 4-®12 35 180 175 143 233 27 10 87 12 349

100L1-4
100L2-6

160 80 140 63 28 M10X22 60 8 240 100 4-®12 M25X15 215 180 250 0*x2 4-0145 40 200 199 159 259 31 12 78 12 373
100L2-4 160 80 140 63 28 M10X22 60 8 240 100 4-®12 M25X15 215 180 250 0%+2 4-®145 4.0 200 199 159 259 31 12 78 12 418
112M 190 95 140 70 28 M10X22 60 8 240 112 4-®12 M25X15 215 180 250 0%2 4-0145 4.0 230 222 169 281 31 12 85 12 380
132S 216 108 140 89 38 M12X28 80 10 33.0 132 4-®12 M32X15 265 230 300 02 4-®145 4.0 264 260 193 325 41 14 129 15 475
132M 216 108 178 89 38 MI12x28 80 10 33.0 132 4-®12 M32X15 265 230 300 0*+2 4-0145 4.0 264 260 193 325 41 14 129 15 513
160M 254 127 210 108 42 M16X36 110 12 37.0 160 4-$14.5 M40X15 300 250 350 0+3 4-¢185 50 314 314 237 397 45 15 154 22 612
160L 254 127 254 108 42 M16X36 110 12 37.0 160 4-®14.5 M40X1.5 300 250 350 0%3 4-®185 5.0 314 314 237 397 45 15 154 22 656
180M 279 139.5 241 121 48 M16X36 110 14 425 180 4-$14.5 M40X15 300 250 350 0+3 4-¢185 5.0 317 355 255 435 51.5 15 159 25 685

180L 279 139.5 279 121 48 M16X36 110 14 425 180 4-0145 M40X15 300 250 350 0£3 4-0185 50 347 355 255 435 515 15 159 25 723



SWEA %% B14 B34 SMizRERTE

B14

:fﬁ:‘[
+ |

P
oN
AC

AD

Al ;[

B34

@p
oN

AC

(mm)

sl wwswRsew |
Azl clolon e e tah L Ju e e Le LT e e oo o ik L

80M2-2 125 62.5 100 M6X 16 155 80 4-®10 M20X1.5 100 80 120 0*£1.5 4-M6 124 204 215 75

80M2-4 125 62.5 100 50 19 M6X16 40 6 155 80 4-910 M20X1.5 100 80 120 0*15 4-M6 3 154 157 124 204 215 75 10 330
90S 140 70 100 56 24 M8X20 50 8 20 90 4-010 M25X15 115 95 140 0*£15 4-M8 3 180 175 143 233 27 87 10 324
90L 140 70 125 56 24 M8X20 50 8 20 90 4-010 M25X15 115 95 140 0*x15 4-M8 3 180 175 143 233 27 87 10 349

18852 160 80 140 63 28 MI10X22 60 8 24 100 4-®12 M25X15 130 110 160 0%£2 4-M8 35 200 199 159 259 31 78 12 373

100L2-4 160 80 140 63 28 M10X22 60 8 24 100 4-®12 M25X15 130 110 160 0*£2 4-M8 35 200 199 159 259 31 78 12 418
112M 190 95 140 70 28 M10X22 60 8 24 112 4-012 M25X15 130 110 160 0£2 4-M8 35 200 222 169 281 31 85 12 380
132S 216 108 140 89 38 MI12X28 80 10 33 132 4-012 M32X15 165 130 200 0£2 4-M10 3.5 264 260 193 325 41 129 15 475
132M 216 108 178 89 38 MI12X28 80 10 33 132 4-012 M32X15 165 130 200 0£2 4-M10 3.5 264 260 193 325 41 129 15 513

SWEA 5 GRS

1 e | [ ew

SWEA 80

SWEA 90

SWEA 100

SWEA 112

SWEA 132

SWEA 160

SWEA 180

6204-22/C3
6205-27/C3
6306-27/C3
6306-27/C3
6208-27/C3
6209-27/C3

6211/C3

6204-27/C3
6205-27/C3
6306-27/C3
6306-27/C3
6208-27/C3
6209-27/C3

6311/C3

6203-22/C3
6204-27/C3
6205-27/C3
6205-27/C3
6206-27/C3
6209-27/C3

6211/C3

6203-22/C3
6204-27/C3
6205-27/C3
6205-27/C3
6206-27/C3
6209-27/C3

6211/C3



WONDER &%

% 3F 1988

EMPEBRSBRATE

it EEABMNTEFTAREKRIRERKFK 120 5
kR : www.wonderfz.com

IiRFE: wonder@wonderfz.com

BXZAMIE: 0591-83998899

I fEER: 0591-83998666

REREBIBRAE

it BRAERENBETIRXIGAR 239 5
®dkFLL: www.wonder-cn.com

AVERFS: wonder@dayu-casting.com
BXZHiE: 0593-6379666 6379988

lkfEE: 0593-6379999

FBERENBEERRATE
Hihk: _ESSHITOXFER 203 SKE 2308 =
kBB : shpld@126.com

BXZAHIE: 021-65355573
EIfER: 021-65460669

V4 —
FEBSSRALILEF
Husik: No.11, Jalan Meranti Jaya 16, Taman Meranti Jaya
Industrial Park, 47120 Puchong, Selangor, Malaysia
ILEB#E: sales@wonderelectric.com.my
BXZHiE: +603-8063-9399

HiEBRSHINEAE

#bfik: No. 111, Neythal Road, Singapore, 628598
Il #BFE: wondersg@singnet.com.sg
EXZHiE: +65-6265-8698



